altl_Inbox.msf

// <!-- <mdb:mork:z v="1.4"/> -->

< <(a=c)> // (f=1s0-8859-1)
(B8=MRMTime) (B9=charsSetoverride) (BA=charSet)
(80=ns:msg:db:row:scope:msgs:all) (8l=subject) (82=sender) (83=message-id)
(84=references) (85=recipients) (86=date) (87=size) (88=Fflags) (89=priority)
(8A=1abel) (8B=statusOfset) (8C=numLines) (8D=ccList) (8E=bccList)
(8F=msgThread1d) (90=threadid) (91=threadFlags) (92=threadNewestMsgDate)
(93=children) (94=unreadcChildren) (95=threadsSubject) (96=msgCharset)
(97=ns:msg:db:table:kind:msgs) (98=ns:msg:db:tabTle:kind:thread)
(99=ns:msg:db:table:kind:allthreads)
(9A=ns:msg:db:row:scope:threads:all) (9B=threadParent) (9C=threadRoot)
(9D=msgoffset) (9E=offlineMsgSize)
(9F=ns:msg:db:row:scope:dbfolderinfo:all)
(AO0=ns:msg:db:table:kind:dbfolderinfo) (Al=numMsgs) (A2=numNewMsgs)
(A3=foldersize) (A4=expungedBytes) (A5=folderDate) (A6=highwaterkey)
(A7=maiTboxName) (A8=UIDValidity) (A9=totPendingMsgs)
(AA=unreadPendingMsgs) (AB=expiredmark) (AC=version)
(AD=f1ixedBadRefThreading) (AE=folderName) (AF=LastPurgeTime) (B0=MRUTime)
(Bl=sortType) (B2=sortorder) (B3=viewFlags) (B4=viewType) (B5=sortColumns)
(B6=columnStates) (B7=useServerRetention)>

{1:A80 {(kA97:c)(s=9)} }

{FFFFFFFD:A9A {(kA99:c)(s=9)} }

<(80=1) (81=0) (82=1c2db2d2) (8F=548c416a) (85=1004) (86=Inbox) (87=Posteingang)
ES8=Wed Jul 06 20:06:49 2011) (89=1417969895) (8A=12) (8B=65bef8) (8Cc=$121)
D
={"threadCol": {"visible":true,"ordinal":"1"},"flaggedCol":{"visible":true,\
"ordinal":"3"},"attachmentCol":{"visible":true,"ordinal":"5"}, "subjectCol™: {"v\
isible":true,"ordinal":"7"}, "unreadButtonColHeader": {"visible":true,"ordinal":\
"9"},"sendercol":{"visible":true,"ordinal":"11"}, "recipientCol":{"visible":fal\
se,"ordinal":"13"},"junkstatuscol": {"visible":true,"ordinal":"15"}, "receivedCo\
1":{"visible":false,"ordinal":"35"}, "dateCol":{"visible":true,"ordinal":"17"},\
"statusCo]"'{"v1s1b1e" fa]se,"ordina]":"19"},"sizeCo]":{"visib]e":fa]se,"ordin\
al":"21"} "tagsCo1"' {"visible":false,"ordinal":"23"}, "accountCol": {"visible": f\
alse,' ‘ordinal™: "25"%}," pr1or1tyCo1"'{'visib]e":fa]se,"ordina]":"27"},"unreadCo1\
":{"visible":false, "ord1na1"'"29"} "totalcol":{"visible":false,"ordinal™:"31"}\
,"1ocationCo1":{"visib]e":fa]se,"ordina]":"37"},"idCo1":{"visib]e":fa]se,"ordi\
nal™:"33"}}) (8E=1409487494)>
{1:A9F {(kAAO:c)(s=9u)}
[1(ArAC=1) (AAD=1) (AA1=0) (AABAB2) (AA3=0) (AA5A8F) (AA2=0) (A88A85) (AA7A86)
(AAEA87) (AAFA88) (ABOAB9I) (AB1=12) (AB2=1) (AB3=0) (AB4=0) (AA4A8B) (AB5A8C)
(AB6A8D) (AB7=1) (AB8ABE) ]}
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